
HW 28. Graph f(x) = cos(x).   Class _____________ Name ______________________ 
 

 

                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
                                                               
 

Directions: Draw VERY CAREFULLY the graph of y = cos(x) in the above graph.  Use the scale  1 box = 0.1 unit.  On the x axis, this means that π = 3.14 

boxes.  The left-hand border of the graph is x=0. There are 63 columns, so about ¼ of the way into the last box on the right is the number 6.28,or 2π. 

Plot the x-values in the table below (continue the process started below, so that all angles with reference angle 0, π/6, π/4, π/3, and π/2 are used.: 

x 0 π/6 π/4 2π/6 π/2                

x(degrees) 0o 30o 45o 60o 90o                

cos(x) 
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